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i ’Fka‘éﬂSe?ecung one question from each unit.
1ms must be shown wherever necessary. Any dﬂ‘ﬂi’ ey
| f quantities used/calculated must be state

| magnetic Induction. What are
&dd}' currents? Explain the

~ generation of eddy currents on the basis

: of Faradays law of EMI. |6]

{b)& irect voltage is applied to a

2 capacitor and the voltage across the

. Capacitor is v = 150(1-¢ ™. Afier 0.05

S€C. the current flow is equal to

L.14mA, Find the capacitance and the

energy stored in the capacitor. 5]

(¢) Find the current in 5Q resistance using

superposition theorem. 15]
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l. (a) Find the Thevenin's equivalent circuit
for the network shown below: |6

|1
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(h) Find out the energy stored in capacitor in
the figure shown below under steady state
conditions. Also find current I.. 5]
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* ne I:E- Any two points of this ring
:', ;hmugh an e:-.ternnl

LR sV
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ha’m the Fﬂradal. s law of

process of

Min. Passing Marks : 24

current(s). ISi]
(b) Find the angle by which i, lags 1, 1
I, = 120 cos [It}llm ~30°) and

(1) i, = —=8cos( 100t + 20°)
(i1) i, = Ssin(100mt + 50°)
(iii)i; = ~6sin(100mt + 30°)
(iv)i, = 2sin( 1007t — 20°)
+ 2¢os(100m - 20°) |8]
2. (a) A voltage wave has variation as shown
below:
{valis) r
H

I'-|F
.II

RMS value

and
(eflective value) of voltage wave shown
in figure. |8]

Find the average

(£) A coil having a resistance of 5O and
an inductance of (1/m) Henry is
connected in series with a capacitor of
(100/7) microlarad. A 200 V. 50Hz
alternating voltage source (sinusoidal)
is applied across the circuit

(1) Find the current Nowing Lthrough the
voltage source,

(11) Find the total impedance of the cireuil.

(1i)Find the voltage across R. L and C
components,
(iv) Draw the phasor diagram. |8]
Unit-TIT’

3. (a) Explain the I'nrlmnnu terms:
(1) [nm'm:-
(i1) Hi-\uum:
(Hi)Armature reaction
(iv)per unit voltage reculation 18]
(b) A 250 volt DC shunt motor takes 30
Amp current while running at full load.
The resistance of motor armature and
field mndmg are 0.1 ohm and 200
ohm respectively. Determine the back
emb generated in the motor when it
runs on full load. |8]
3. (a) Explain the following terms:
(i) Interpoles

(11) Leakage flux and Iuahuge réactance

(iif)Critical field circuit resistance in
D.C. generators,

(iv) Commutation |8)

. | g {b} Explain how the back emf of a motor
-' ‘ h ?
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(¢) Explain why the speed - tur :

characteristic of a DC shunt motor s

non-linear in high-torque region. 14

Umt—‘IV'

Draw the circuit diagram of a smgleli
S stage CE transistor amplifier, Dlscussq

DC biasing and role of coupling:

capacitor in this circuit. 8]
(b) Derive the Boolean txprﬂﬂﬂn to
represent the given circuil. 4]
A ~D
o
_B @
= lLamp

(¢) Minimize the following Boolean

function z= ABC+AB+ABC  [4]
4. (a) Draw the circuit diagram of full waver
rectifier with capacitor filter by using
two diodes and discuss its working.[8]

(b) F= ABCD + a\HLDTAECD+ABCD
Implement the function by XOR gate

only. 4]
(¢) Give the truth table for the given
combinational circuit. 4]
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S. (a) Discuss need of mudulatmn dnlw%
comparison between amplitude and
frequency modulation schemes by takmg‘
important features one by one. Iﬂ" '

(b) Discuss working of thermocouple by
aking an important application uﬁt.lll

(¢) Differentiate between transducﬁrs
inverse transducers.

(OR)
S. (a) Discuss following types ufi
communication mﬂlhnds
Stating their important ¢

along with range of ﬁ'e-q

(1) Mmruwave : |ll't¢.’
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